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[ RO o3 : 100

[ Max. Marks : 100

1:12::. ‘:{I:; Value Points al;,::::{:d
I. 1.| C 0 1
2. B 1 .l -2 1
3.1 A 90° 1
4. D 1540 c.c. 1
1
5| B 5 )
6.| A b 1
a
7 C S, = T, X
g D n(r +1y ) 1. 1
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81-U 2 CCE PF+PR

Qn. . Marks
Nos. Value Points allotted
II.

9.| A'=U-4A 1,

{1,2,3,4,5,6}-{2,3,4,5}

={1,6} Yo 1
10.| Sk = Jusid
L
SAS Sa 1

_ 52
11.| T, =n"+4

T, = 2%+4
- 4+4 1,
= 8 Yo 1
12.| LxbbllE s) = (BT - n(S)=2 Vs
SH(A) = (HY - n(A)=1
p(a)y =4 1 Y,
n(S) 2 1
13. “.9md,wi.;ﬁz:uﬂfz_ua"-{uf”s;&ci-/uua',@u:w:,ﬂﬂl;fs'” 1
14. ":dﬂrl‘ p(x) = ax® +bx +c Vs
{LJL??I a#0, a,b&ceR. Yo 1
e g FL L iz (Direct)F 14 Jre 9 Jiv: 2
M. 15| AN B = {3,4} 72
(ANB)NC=1 L o o Q) Va
BNC = {6}
AN(BNC)={} L ¢ oo (id) Ya
= (ii) 22 (i)
(ANB)NC = AN (BN C). Vs 2
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CCE PF+PR 3 81-U
Qn. . Marks
Nos. Value Points allotted
16. okl bl a J/J//Lf/
a+b _ 5 ¢.lfL)
2 CTT
a+b = 10 .. (i) Yo
Jab = 4 23
ab = 16 ... (i) Yo
balgsl (HM. ) = 292 Y,
a+b
B %16
BEGE
1
-Q}J:Lop‘/ié,@)d)@ 2
TS Ae
G% - AH Va
2
2
16 _ 1
? - H. /2 2
Ty =1 g
L -
a+2d
a+2d =1 Yo
a=1-2d .. (i)
1
Te = —
5 -5
1 _ 1 Ya
a+4d -5
at+t44d = -5 .. (ii)
PF+PR-III-513 [ Turn over




81-U 4 CCE PF+PR

Qn. . Marks
Nos. Value Points allotted
w2 ) U ) el
1-2d+4d = -5
1+2d = -5 Yo
2d = -5-1 = -6
6
d=-==-3
2
a=1-2(-3) = 1+6=7 % d= -3 /I
_ 1 !
Tio = a +9d ’
7+9(-3)
7-27
1
17.| e 5 3 IR
Le. 5—1/§=£{.UL27.p,qez, g+ 0 Yo
q
s5-P - 3 Vo
q
S4-pP _ 3
q
—ew P 3 et 72
e S B K
..4"._3051,.5:/"‘;/&2:
e )P Ll 53 Yo 2
n n
18. P, = 5."P,
/{(n//l)(n/Q)(n—S) - 5/ (nf1)(n/2) 1
n-3 =25 1,
n=25+3
n = 8. v,
2
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CCE PF+PR 5 81-U
Qn. . Marks
Nos. Value Points allotted
19. < P(A) _ 5
P(A) 11
11P(A) = 5P (A)
11P(A) = 5[1-P(A)] Ya
11P(A) = 5-5P(A)
11P(A)+5P(A) =5
16 P(A)=5 Vs
5
P(A) = ¢
P(A) = 1-P(A) ™
5
= 1_1_6
_16-5 > 1
- 16
_1u
16° _/ 2
20. | U Z L U et el 2oLl S
Y 2O V2
e P 30 I e 2 St el A
G DL g 2 s 2K 3L v
L bl itV —| 8, 18, V32, J50 | 1 2
21. \/g+\/§ y \/g+\/§ v
J5-¥3  J5+43
_ (f5+43)?
5-3
_ 5+3+2/15 1,
2
_ 8 + 2415
2
_ Z(4+415) Y
./-2——— 2
= 4+ J15. Yo 2
PF+PR-III-513 [ Turn over




81-U 6 CCE PF+PR

Qn. . Marks
Value Point
Nos. atue Tolnts allotted

22. ’nbf’y g(x)= 2x-1 ,G/J’/'
=l g(x) = Tx2 +x+5

dg‘r(x)=4
p(x) =1[g(x).q(x)]+r(x) V2
= [(2x-1)(7x%2 +x+5)]+4 Vs
= 14x3+2x2 +10x-7x%2 —x-5+4 Vs
= 14x3—5x2+9x— 1. Vs 2
b
~3 3 -2 7 -5
0O -9 33 -120 )
3 —-11 40| -125
el = 3x2 — 11x + 40 Yo
Sb= _ 125, Vs 2
3\
23. A=£a2
4
4A= J3a? >
2
4x1 = 1
X 6¢ \/Za )
a = 8cm
LLiels = 3¢ V2
= 3x8
= 24 cm. 72 2
24.| x%2-2x+3 =0
a=1, b= -2, ¢c=3 Yo
b2 —dac = (-2)° -4(1)(3)
= 4-12 72
= _8
b2 —4ac < O Y5
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CCE PF+PR

81-U

Qn.

Nos.

Value Points

Marks
allotted

25.| USAzXY s APXOQ

A

PQOX

A PXQ

X0Q =

X0Q =

S

A
XYZ = 90°

- viz G

~ AZXY
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Yo

Yo
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Yo
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81-U 8 CCE PF+PR

Qn. . Marks
Nos. Value Points allotted
_ 2
26. LHS = l1-tan“ A
1+tan2A
1_sir12A
2
A
_ 0032 1,
sin“ A
1+ 5
cos“ A
cosgA—sinQA 1
= 2
cosQA+sin2A
2 2
_ cos® A—-(l-cos™ A) 1
1
= cosQA—1+cos2A
= 2cos?A-1. Yo
-q;u’ghup:ié.’é—j/w)@; 5
,‘ﬂ'
27. (x2,y2)z(5,—2)15|(x1,y1)z(4,—8)~G/:// Ya
gy - Y279 1
Xo =X
_ -2+8 1,
5-4
= 6. Vo 5
'P.
28| (xy, yp) = (4 7) 4l (x), yy) = (2, 3) S
. + +
LB _ [t Uit "
2 2
_ 2+4, 3+7 1,
2 2
6 10 1
= _’ — /
(2 2 ) ’
= 1
(3, 5). Y 5
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CCE PF+PR 9 81-U
Qn. . Marks
Nos. Value Points allotted
1
29. 30m=%x30=1-50m
80
80m = 50 = 4 cm
100 m = % = 5cm
1
150 m = % = 7'5cm
40m = ;—8 = 2cm
7
70m=2—8=3-50m. Yo
D
50 m
H
E 80 m
F
A 1% 2
30. r = 35cm # = 6cm
o
2/ — Yo
o — Yy 5
A = B OP | AB— Yo
—— A
&6 OP=1-8 cm
N
PF+PR-III-513 [ Turn over




81-U 10 CCE PF+PR

Qn. . Marks
Nos. Value Points allotted
A
r=35cm 6cm=AB 7
2l — Yo
75— Yo
OP 1 AB— Yo
e v,
Aol OP= 18 cm
31.
1
2
1
32 _ — _
a =1, r=2 Slo =7?
n
-1
I Lt ) Y
n (r—1)
10
1(21° -1) ,
S0 = —5—1— /o
= 1024 -1 Yo
= 1023. Yo 2
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CCE PF+PR 11 81-U
Qn. . Marks
Nos. Value Points allotted
33.| IS = 124844 = 24
e | ST
A 12 180°
gx 360- = 180
B 8 08 120°
x 3606~
243 v
C 4 60°
%/ ngg — 600
25
A
1
1% >
34| = JI9x2 + J64x2 - [J25x2 Yo
= 3/2 + 8/2 - 5/2 Yo
= 11,/2 - 5/2 72
= 642. Yo )
35.| °C, =10, °P =60
np
n _ r 1
C, = — 2
5
5c - _r Ya
r rl
10 = 99 Y
r!
6
r! = éi/g/ = 3x2x1 Y5
r=23 2

PF+PR-III-513
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on. ) Marks
Nos. Value Points allotted
36.| 4&/e ax® +bx+c =0
a=1, b= -7, c =12
—bi\lb2—4ac 1
5 = Ya
2a
—(—7)i\/(—7)2 -4 x1x12 1
—3 /2
2x1
_ 7i‘[49—48
2
7+1
J,:? 7+1 L 7-1
2 2
8 | 6
2 " 2
ZENE} 2 2
37 uzb,:?ﬂL 5cm 2/ 3 cm CL&L’L DEF s/ ABC &«D:‘;L:’%G/(f/ Yo
AABC 32 1
ADEF ~ g2
- 25 s 2
38.| 3 dl-pla) Fetel e (x-a)f plx) o2 !
i) Si=pl-a)fetelFa (x+a)f plx) 22 1 2
39.| h=4cm, r= %Cm, V=2
ﬁ(;lrbu(b V= %nrQh cubic units Va
- %E—?xgx%l/x/‘rcubiccm Yo
= 21 x22 72
= 462 c.c. Y2 2
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CCE PF+PR 13 81-U
Qn. . Marks
Nos. Value Points allotted
40. AT
AP - AR JWRI A
BP = BQ JV’}]/D//'J Bﬁd)ﬁ
CR = CQ JV}J/D//U C,ﬁ;}djﬁ 1/2
AB = AC 4—9;&:
AB—- AP = AC- AR Y
BP = CR Ya
CR=CQ » BP=BQ ug
BO = CO. Yy 2
LBALE
aB - ac SFIG
AP+ BP = AR+ CR Ya
AR+ BP = AR+ CR AP = AR Yo
BP = CR
CR = CQ . BP=BOQ J*O Ya
S BO = COQ. Yo 2
v.a1|  n PG EGIP
)’ﬂgd/ Js Lt s Alay 1
ncy= 45 (el)
nin-1) - 45 A
2x1
n(n-1) = 90 Yo
n(n-1) = 10x9 Yo
n =10
10 = st fig v,
_é:u’;wgf?;.dlggfpl’”dg{'n’c:..é’i—/’ic.abv&uu/l DL 3
b
PF+PR-III-513 [ Turn over




81-U 14 CCE PF+PR

o - Marks
on. Value Points allotted
;u;:]d/u:}': ="C,-n !
_nn-b) 7
2x1
2
“n-2
_ % 72
2
-3
-2 7
n(n-3) L
= _— /
2 ) 3
42.| L @):”.Lf‘df}
X d=X-X d?
36 ~-12 144
40 -8 o4
48 0 0
50 4 16
64 16 256
S X = 240 Yd? = 480 1
bollple 3 22X _ 2807 o
N -5

Jﬁw?wc)=d%? ”

I
HN
o|&
o

- J96
= 98 &
#8002 (cv) = 2 w100 72
X
9.8
= 1
s x 100
_ 980
48
~ 2041, 72 3
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CCE PF+PR 15 81-U
Qn. . Marks
Nos. Value Points allotted
o RS,
Step deviation
X d=X-A X-A d?
d —
C
36 - 12 -3 9
40 -8 -2 4
48 0 0 0
52 + 4 1 1
64 +16 4 16
N=5 Yd = 0 >d? = 30 1
- .p. s,
48 = A= r.‘:””/;// L,,lajfj/
4= c=2IF
. 2 2
SIAG (o) - ‘/z%—[%j xC Y
?—02 x 4
= ‘/g x 4 Yo
= 242 x 4
c = 98
VA1V (C.V.) = % x 100 Va
9.8
= 73 x 100
= 2041. Yo 3
AN
m 35
X d= x-A d>
36 36-48=-12 144
40 40-48= -8 64
48 48 -48 =0 0
52 52-48 =4 16
64 64 — 48 = 16 256
N-= >d = 0 >d? = 480 1
S0 4 - ag
PF+PR-III-513 [ Turn over




81-U 16 CCE PF+PR

Qn. . Marks
Nos. Value Points allotted
2 2
J'/’UJL—V(G) = zi_ 2d Yo
N N
o _ |480 (0¥
5 5
= 96 -0
= J96
c = 98 y
. 2
cv.= Zx100= 28,100- 280
x 48 1
(OAY = 2041. 1,
3 NG
V. 3 et
X x2
36 1296
40 1600
48 2304 1
52 2704
64 4096
- X 240
Yx = 240 Yx2 212000 | x = == = 2= = 48
N 5
N=5
37 Yx2 (Tx)?
Jif’J/.l:-V( c)= X [ &X Yo
N N
o~ [12000 (240)?
5 5
c = ‘/ 2400 -2304
c = ‘/ 96
c =98 /2
CV. = 2 %100 Yy
X
9.8
= 1
5 x 100
980
= —— x 100
48
= 2041, v 3
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CCE PF+PR 17 81-U
Qn. . Marks
Nos. Value Points allotted
A X
43.
A B
P
VY Yo
./T'-JV"EJ PJJ’?’/LUUBJV Banl A o lyee v,
JBE B PeA Setfal 1 ol
. Yo
g xpy JUWL S v,
SF est
VAN . -
APX = 90° (Bid L gW)
A 3 50
BPX = 90° (Q‘M L_EIV) .
& 9:’6 (i) 2 (i) v,
. A
A A (- =7 APB
APX +BPX = 90° + 90°
VAN
APB = 180°
2 ppp K
3
B B sl PeA 1
AN
44.| LNA = 90° U< B\ 1aN
1A% = LN? 1 NA? 1,
- 62182
- 36+ 64 Vs
= 100
LA = J100 = 10 cm Ya
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81-U 18 CCE PF+PR

1:12:. Value Points al:::z:{: d
LAW = 90° U B\ 1AW
Lw? = LA? +wA? Va
wA? = Lw? - LA?
- 262 -102 Va
= (26+10)(26-10)
WA = [J36x16
= 6x4
WA = 24 cm. Yo 3
b
MPG = 90° J B\ mpG
MG? = MP? +GP? Va
MP? = MG? - GP?
= a?-c? (i) Y
MPN = 00° U~ B\ MPN
MN? = MP? + PN? Va
MP? = MN? - PN?
- b2 g2 (i) Va
= (i) 2 (i)
a% - c? = p2_g42
a2 b2 = 2 _ 42 Yo
(a+b)(a-b) = (c+d)(c-d)
e N
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CCE PF+PR 19 81-U
Qn. . Marks
Nos. Value Points allotted
VAN VAN
45.| ACB = 30° .l ABC = 90° U~ B\ ABC
AB
tan 30° = — ”
an BC 2
1 _ _AB
J3 BX+6
BX + 6
AB = =221 . (i) Y
J3
VAN VAN
AXB = 60° 4 ABX = 90° U~ B\ ABX
tan 60° = AB Yo
BX
AB
3 = 22
J3 BX
AB = J3 .BX .. (ii) Vs
e (i) o (i) e lsbm
BX +6
J3.BX = il Yy
J3
BX+6 = 3BX
3BX-BX = 6
3
2BX = 6
BX = 3m
AB = BXJ3 i Bx=3 /I
= 3J§ m
33 = (b v,
L
PF+PR-III-513 [ Turn over




81-U 20 CCE PF+PR

Qn. . Marks
Value Point
Nos. attle Toints allotted

sin (90°-6) = cos 6
cosec (90°-0) = secH
cot (90°-6) = tan 6

LHS = . Cos6 1
sec O —tan 0
_ cos 0 . 1,
1 3 sin 0
cos 0 cos 0

cos 0
1-sin 6
" cos O
cos 6

= cos O x ———
1-sin 6

0032 0

Y2

1-sin0

1—sin26

1-sin©

(1-sinB) (1+sin0) 1
(1-sinB)

Yo

1 + sin 6. Yo

LHS = RHS. 3

v, 7
46, /ﬂﬂ—r—acm

d“'LLﬁ”} = h = 5cm
6L _ A F, f6 ) s v,

= %nr2h+%nr3 1
= I (h+2r) Ya
3
21l 1 7 7 7
aia> XE*}*E(S%E/] &
= 154 c.c. 1 3

tt——.
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CCE PF+PR 21 81-U

Qn. . Marks
Value Point
Nos. atue Tolnts allotted

Hid = r = 7cm

SekfuShr - SbiSi - 4 om Yo

IS KOS L 3k CE S kS 55,
T.SA. = nmrl+2nrh+2nr2 1

= qnr(l+2h +2r)

=2?2/><77/(4+2><4+2><7) Y

= 22x(4+8+14)

= 22x26 = 572 sq.cm v 3
V. 47.
R=4cm, r=2cm, d= 8cm
R+r=4+2 = 6cm
sk LI AB .
tl:dCS ‘CQ ‘Cl D:;b 11/2
;324 DE 1 CB 1
t/G/JJalJ)E,JJV v 4
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81-U 22 CCE PF+PR
Qn. . Marks
Nos. Value Points allotted
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CCE PF+PR 23 81-U
Qn. . Marks
Nos. Value Points allotted
- . v
48. D e A L

“_Lat'//ﬁ.gf_wt;fu%)jLﬁbgg‘?{d}lf’i(‘}i@gf{uﬁw”

< DE || BC U A ABC 3/

AD  AE o
DB - EC J%-L/’L«:L. ._,}U’/

-éjﬁch;Eﬂl/ Cc‘.D:Jf

.22 DN1 AC 4 EL 1 AB
U 2

¥ N ADE ngDxJZ/L’ . 1

K
#¥A BDE %XDB x BT

A ADE AD

= .. ()
A BDE DB

/& AADE /éxAEx/B'iv )

L€ ACDE = v A=z xbxh

/%XECX/BN
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2

2

Y2

Yo
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81-U 24 CCE PF+PR
Qn. . Marks
Nos. Value Points allotted

A CDE EC
AD AE .
L2 _ A5 + [4§A BDE= +%A CDE
= DB CE &
Axiom-1~%4 sl | Yo 4
)
49.| T, =T,
ar’® = a2
a=r? - () &
Tg = 64
ar® = 64 . (i) Ya
200 (i) =i (i)
r2r4 = 64 = 64
r=2 /2
a=22=4?n'r=2//’ 7
Ma=4unr= 2)/'
n
a(r -1
s, - 4 -1) v,
r—1
6
4(2°-1
Sg = ¥ Yo
2-1 4
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CCE PF+PR 25 81-U
1:12;:. Value Points al:::z:{: d
= 4(64-1) Vs
= 4 x 63
= 252. v,
{
T, = 10
a+3d = 10 . (i) Yo
T, = 3T, +1 A
a+10d = 3(10)+1
a+10d = 31 ... (i) Vs
(S ) )
a+10d = 31
() d+ 3d = 10
7d = 21 d = Yo

PF+PR-III-513

[ Turn over



81-U 26 CCE PF+PR

Qn. Marks

Value Point
Nos. atue Toints allotted

=

a+3(3)=10 9% d=3

at+9 =10

Yo

Il
—

10-9

Q
Il

n=20 .l d=3u|a=1//ﬁ

Snzg[2a+(n—1)d] Ya
Soo =2—20[2x1+(20—1)3] v,
- 10[2+57]
- 10x 59
- 590. 1, 4
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CCE PF+PR 27 81-U
Qn. . Marks
Nos. Value Points allotted
50. x?-x-2=0
y = x% —-x-2
X 0 1 2 3 -1 -2 -3
y -2 -2 0 4 0 4 10
Jre_
(L parabola —
=3l Usrde__ 4
Y
(-3, 10) 10 Scale :
X-axis - 1 em = 1 unit
9
Y-axis - 1 em = 1 unit
8
i
6
5
(-2, 4) a 3, 4)
3
2
1
x < -3 -2 - ) +4 +5 x
(-1, 0)
[09 _2]-
-3
—4
roots are
x=-1,+2
Y(
PF+PR-III-513 [ Turn over




81-U 28 CCE PF+PR
Qn. . Marks
Nos. Value Points allotted

y = x2
X -3 -2 -1 0 1 2 3
Yy 9 4 1 0 1 4 9
y=x+2
X -3 -2 -1 0 1 2 3
y -1 0 1 2 3 4 5
Jrae_
Uil
:«5(:-':"_51)}}1:?_
|1 L
XAxis=1cm=1
- 12 YAxis=lem=1
= 11
~ 10
(-3, 9) 3,9

-2, 4)

DSV L 5 K
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